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Q1. Choose the correct option-
1) 72 x 5000 equals -
a) 36000 b) 360000 c) 3600 d)366000
1) How many timesis 17 there in 867 ?
a)51 b)50 «c¢) 61 d)41
i) s called the multiplicative identity -
a)0 b) 1 C) 2 d) none of these
iv) Dividend = Divisor x Quotient +
a) Addend b) Multiplier ¢) Remainder d) Subtrahend

Q2.Solve -
a) 2x175x50=

b) 45x 600 =

Q3. Divide and check -
a) 72845 +9

Q4.The cost of a refrigerator is T8975. What is the total cost of 24 such
refrigerator ?

Q5. Cost of 15 shirts is 4875 . How much money should one pay for 35 such
shirts ?



